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1. @&A�BDC�EGF4HJI�K4LMF�BDC�ENF.O&PMF6Q6R.S�TVUXW)Y2Z2[�\^]�_a`
2. b6cd\ 6 e�f$F�g�h�i$j 4 kVlMmX`
3. nJod\^p$h�i&Wab�cdW^qsrDt&u&vwm&x�yz`2{2|d}X~2�JL��X�)��C2�Jja]J���X�)�&�dr&\�����}��2b&vVm2x�y7`
4. v2���JWab6csr)�.�&����y0����}Dt6u2vVm2x�y0`
5. q$c ( x)W)�MC�� ) })��� , x)W&i�k��6��\^���¡ £¢^T4¤�x�y0`&q&c�\^���¡ ¥�X�4Q$R&b6c-yJ�¦�^�Mb¥�¦��§D¤ .
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1.[5 ��� 2 � 10 � ]

� K&Wd§��+T���� E �^C"!$r�#J¤�� , $�� s %'& t (
W*)Jg"+-,�Cd}/.10Mm&x�y^}DI322m . T�# , p54�W �56
\87JW94�W;:=<d}�q � ��¤sm .

s t

2

5

3

7

1

a

b
(a) >.t�r@?-�X��+=,�C�r8A)vVmCB-DE���£EF�DC"!&}/G �EH § .
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(b) I6t�WJ+K,�C2j�)JgL+K,�C2f�lMm2x�y^} , B�D5�M�£EF��C3!$}�b2¤M�9N3O H § .P � , )KQ�R�� E¡}@.10�§ .
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2.[5 ��� 4 � 20 � ]

� K&Wd§�� T;�M�£E �^CL!6r�# � m )=Q��2bL+�,^Cs}
."0Mm&x�y�}�I322m . p54�W �56 \ , ����j87MW/4�W��
� E ,

� ��jE72W94sW9:J<s}�qJv .
P � , pE$���W �E6

\87JW*$=�MfJW
	��
���=< ( ��W)�$�d\����=< , ��Wa�
�s\�	��E< ) }�qJv .

10

5

-7

-8

a

b

u

v

3, 7

4, 8
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(a) xaW9)-Q��Jb3+=,�C�iDkw}������ H § . � )EQ
������� �"!������$#�W
%�f.L£�.x�y .

(b) xaW$i�k�W�+-,DC ( &E:$n ) \ , )2g3+K,�C�iDk�}('�b�� ��. 0�m&x�y¦j$f��2m . x^W){ �*)�r�+2¤
�*N1O H § . T�# , +K,�C�}9. 0�m(,���\JT4¤ .
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(c)
� rC?��+�K+8, CMr�A�vdm B5D��1��E �¦CJ!.}CG � H § .
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(d) (c) f�."0.�;B�D5�M� E �DC"!6r�# � m � ��� }�b�¤M��I6t�W�+-,�C�}���� H § . +K,�CMW��^� E
jwUXWV�K& ¤��
	-�X�5%2r +J¤M���Xt�
JvVm2x�y .
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(a) A � f j��-A � fMl�mJx�y�W���A�}�L � .

(b) >4t�WKA � j57��������-A � fMl�m&x�y�}	�JO H § .

f(x1, x2) = ax1 + bx2 (a, b \ � � ), g(x1, x2) = 2x2
1
+ 3x2

2
+ 2x1x2
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(a) A � f r��$v�m )����5> )��	��

���^C�E�� )���W
�.AV}DL � .

(b) A � f(x1, x2) = x2
1
+ 1

2
x2

2
+ x1x2 r��-�¦� , ������} x0 = (1, 1) y2� ��)����8>8�d}��2b-�X�)�&��W���W � x1

}^Q6R H § .

(c) A � f(x1, x2) = 1

6
x4

1
+ 1

6
x3

2
− x1x2 r��¥�¦� , ������} x0 = (1, 1) y&�X�����^C�E��/��}��Mb¥�¦�a�&��W���W �

x1 }^Q6R H § .


